-

1 A=2x3xs B =2x3x5
Write down the highest common factor (HCF) of A and B
A* 2v2xY2x 3x3 xg
B> 2x 2x 3¥Y3x 3% §
(8o
(Total for Question 1 is 1 mark)
2 Verity buys 12 bottles of apple juice for a total cost of £15

Verity sells all 12 bottles at £1.75 each bottle. —

Work out Verity’s percentage profit.

1+76 x 12 = QI
Prodif = Q1-15= €

7 Pasdil = j'"%”- ¥ loo
0%1¢ined

< _5. XIlp0
15

e 40 4‘0

(Total for Question 2 is 3 marks)
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The table shows the populations of five countries.

Country Population
India 1.4 x10° &
Turkey 8.4 x 107 &
Denmark 5.8 x 10°
Estonia 1.3 x 10°
Iceland 3.4 x10°

(a) Work out the difference between the population of India and the population of Turkey.
Give your answer in standard form. ?

g 2107 _ B4 X 1o
q

.4 “oq - 0-08Y Xlo T

* (1.4 -~-0-08Y XloT 1.316 ¢ 1o

2

Given that 1
population of Iceland = R x population of Denmark

(b) Work out the value of R o
Give your answer correct to the nearest wllgle number.

: nur
5-% «x lo
3- 4 x 10°

= |3 (‘“C“q‘ @ hole nﬂ‘lt‘v)

Y
@

(Total for Question 3 is 4 marks)




4 The diagram shows the front of a wooden door with a semicircular glass window.

A

\J

<« 075m—p

Julie wants to apply 2 coats of wood varnish to the front of the door, shown shaded in the diagram.
2.5_0. millilitres of wood varnish covers 4 m? of the wood.

Work out how many millilitres of wood varnish Julie will need.
Give your answer correct to the nearest millilitre. 2
CE— L

shaded Areq = &x (0-75) - n (0°25)
2

y B
s .40 M

2
2 Coaks L4o y2 = 2.80 m

250 mg Covers Gwm T (£4)

€2.5 ML s | w L

A %0 X 6&.6 =175. 2 m)
= |
16 ( nmearegt ‘Ml)//

176 millilitres

(Total for Question 4 is 5 marks)
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48°

J

ABcD and FGHT are parallel straight lines.
EBGJ and Ech are straight lines.

RE=CE
Angle Rg¢ =48°

Work out the size of angle J G{ .
Give a reason for each stage of your working.

¢ EBc = (80 - ﬁ - ¢é [ 1So0Sceles O

R

L&Be - 180 — €6 = 114° (Aﬂglu onq.
Stzaight [ine add 4 (g

LTGH =ng ([ orres ponding avnyes)

(Total for Question 5 is 5 marks)

N
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6 Adam drove 56 km from Liverpool to Manchester.
He then drove 61 km from Manchester to Sheffield.

D
=

Adam’s average speed from Liverpool to Manchester was 80 km/h.
Adam took 85 minutes to drive from Manchester to Sheffield.

(a) Work out Adam’s average speed for his total drive from Liverpool to Sheffield.

A\I’. S"‘J - 2"" £r s

: . 55.
es.s 0Tt 414 ~3-(4)

Bev drove from Reading to Bristol.

Bev’s average speed from Reading to Swindon was 80 km/h.
Her average speed from Swindon to Bristol was 60 km/h.

Bev says that the average speed from Reading to Bristol can be found by working out the
mean of 80 km/h and 60 km/h.

(b) If Bev is correct, what does this tell you about the two parts of Bev’s journey?

The dime . wmust be €qyqy.

~

LM m =S T e 8 mity
*+ 56 kwm Te 85 . 1.4f¢ houns

km/h

(1)
(Total for Question 6 is S marks)




A company has to make a large number of boxes.

The company has 6 machines.

All the machines work at the same rate.

When all the machines are working, they can make all the boxes in 9 days.

2 of the machines are not working and cannot be used to make the boxes.

Work out the total number of days taken to make all the boxes.

§xq s 5¢ oclays ot Wwork

iil <15.6§ cla
,, g

13 -5

(Total for Question 7 is 3 marks)




Janet bought a new car three years ago.

At the end of the first year the value of the car had decreased by 17.5%
The value of the car decreased by 10% each year for the next two years.

At the end of the three years, the car was worth £16038

Work out the value of the car when Janet bought it three years ago.

X x 0 §as « o-?” = (603 %

y A (€03 8
f0'9’a25 x 0-9%

= 24090

:..246000

(Total for Question 8 is 3 marks)




162* Y5
9 Simplify fully( ijz
9

N
(——'; J ( Sqyate %oof)
3y

3 e
fhx * 3y

(Total for Question 9 is 3 marks)

10 Expand and simplify (2 =X)(22(+ 3)(X+ 4)

(éx+ ¢ - 2x” - 32) (X+4)
(X6 22) (X R
Calt bx + Ex + & - 223" ez

’ 2
» lox -2x’- Tx 4

3 2
~2x~ 7z tlox +2¢

(Total for Question 10 is 3 marks)
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11 The box plot shows information about the distribution of the amounts of money spent by some male
students on their holidays.

H :

Male
students

Female T
stud eut 2— M

0 100 200 300 400 500 600 700 800 900 1000

Money spent (£)

(a) Work out the interquartile range for the amounts of money spent by these male students.

330- 150
£ '9’?2)

The table below shows information about the distribution of the amounts of money spent by some
female students on their holidays.

Smallest Lower Median Upper Highest
quartile quartile
Money 60 180 300 350 650
spent (£)

(b) On the grid above, draw a box plot for the information in the table

Chris says,

2

“The box plots show that the female students spent more money than the male students.”

(c) Is Chris correct?
Give a reason for your answer.

Yo dhe wmedian awmt.  hewalé  studengs
......... sfead  is

9100kes .

1)

(Total for Question 11 is 5 marks)
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12 Using algebra, show that the recurring decimal 0.1803 = e
x = O l8'.0:3
100 X - 1§03 . —v
loooox : (60 3.03 —&
@- 0 fives,
9990 x = l7% 5

x= 1755 . U9
M40 céo

(Total for Question 12 is 2 marks)

13 Saffron wants to work out an estimate for the total number of fish in a lake.
On Friday, Saffron catches 210 fish from the lake.

She puts a tag on each of these fish and puts them back into the lake.
On Saturday, Saffron catches 240 fish from the same lake.

She finds that 35 of the 240 fish are tagged.
Work out an estimate for the total number of fish in the lake.

Qo _ 35S

CE—

x ) 240
35 x ¢t dlo ¥ 240

X = o xdko
ﬁ35

14 &0

X2 "Hgo

(Total for Question 13 is 3 marks)
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14 P Q’ Rand G are four points on a circle, centre .

S

Px R and 5xq are straight lines.

Prove that triangle PQX and triangle S Rxare congruent.

SX

L PXQ = [ SxR (: opposite cmJle
e eqyal )

.. SAS

—
C—

(Total for Question 14 is 3 marks)

Px = qx = Rx (~ au v9adivs)

/
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Here is a speed-time graph for a train.

F 3

25

20

15 -

Speed (m/s)

10

0 ‘ |
0 5 10 15 20 25

Time (s)

Y

(a) Work out an estimate for the distance the train travelled in the first 20 seconds.

Use 4 strips of equal width. 5
0_1,(57(027,_5 51765+ 372 51 Fo
- 130

L (&+5)¢5= 175
5[5 +loxg = 37.5
130

;'((10“%’7¥5: o %)

(b) Is your answer to (a) an underestimate or an overestimate of the actual distance the train
travelled?
Give a reason for your answer.

QURTeskimal © ~ Hio  1uPe2Uw  Jo OV

P, e

1)
(Total for Question 15 is 4 marks)
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16 Using algebra, prove that, given any 3 consecutive even numbers, the difference between the square
of the largest number and the square of the smallest number is always 8 times the middle number.

N, ANt 2, AN ¥

L 2
[&nty) — (An)

)
:4W+1Mf(é~4%@

= (6n + | o

Clodmtz) = 16m 4 _~

Both  che  Cayal.

(Total for Question 16 is 3 marks)




-

17

The straight line [ passes through the points (4, —2) and (6, 5)

The straight line M is perpendicular to [ and intersects the N -axis at the point (0, 3)

Find the coordinates of the point where M intersects the x -axis.

m=dy . 5-"2 _ 7

dx 6 - & -

cwlar g = -2 [ - -
Perpemdic — ( ™ Wz>

Y - =Tt

CI0sses o (whow (y -0

O = =X o+ 73
=

-3: -4 9

o5 0O

7< - { 0 ‘6 // (Total for Question 17 is 4 marks)




4 )

2x-1 Qx
18 Show that X =2 t1 can be written in the form —; th

where q and § are integers.

X(x-3) (22 ~O(Cxt3) (x+ 3) (A=%D

2 2 ‘
7-37 -(&x F€2-13)t L —9
7°- g
Y 2 2
X =3z —2x -5 t7 tx -9
2
<~
PR [fezg
2o 7 b= ~C

(Total for Question 18 is 4 marks)
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19 (a) Express 9 + 8 —2x? in the form a +b¢c +¢ )* where ¢, |, and ¢ are integers.
X
q-2( 2" -4z)
Z
-9 - 2[(x-2) - ¢
. 2
" q-2(2-D +9¢

2
=7 - 2(2-2) s

2
17-2(2-2)

(&)
C is the curve with equation y= 9+ & — 242

The point/ is the maximum point on C

(b) Use your answer to part (a) to write down the coordinates of A .
: 2
clavahM  (gi1c) +bL hal
wax- Pont  (-a, b))

( 2 ; / ? )
0y
(Total for Question 19 is 4 marks)
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\‘/Llél -2 2 4

VI _
Ve

I~

Triangle A is transformed by the combined transformation of a reflection in the x-axis, followed by a
reflection in the line X = -2, followed by a translation with vector <_24)

One point on triangle A is invariant under the combined transformation.
Find the coordinates of this point.

You must show your working.

— I

b

(Total for Question 20 is 2 marks)
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21 Prove algebraically that the straight line with equation 2x + y+ 5=0 is atangent to the circle with
equation y° +32=5 }j . 5
2 a
*x +(-dx-5) = 5
2 2
Yt b tlox tloX +&S = 5

57421— Lox + 20 =5
1Q+47%—4:-9

(Yf-QQQ = O

A= -

Y. -at-2) -5 - -

The e 014(% lowdhes Mo Cacle
0w Poink -2, 1)
i s a0 feugend

(Total for Question 21 is S marks)
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The diagram shows two circles such that the region R, shown shaded in the diagram, is the region
common to both circles.

@o@

One of the circles has centre () and radius 5 cm. Seo ﬂ menf Area
The other circle has centre P and radius 4 cm.

Angl =50° -
ngle Ao = WHréq 9% .SQQ*‘OD’ -
Calculate the area of region R.

Give your answer correct to 3 significant figures. %} W D% Tm anm ﬂ [ Q N

A 9
a® . by & -QbcloS A D 636 , mlw) -

a‘QLEQfGQ—&CS’)({)(os (5”0\) 260
at:7.5¢6 ;1{[[4)[(4)5(‘1/) (53 ¢)
ad- b-LA{ O

= (7% 5 CM/(L
d
cos A= Db TCO(Z—QKL 9
db C @) 59w n(s) -L()0¢ %
] 2 9 2460 2
IR N ¥ ¥ 21333 am ©
(L)
) Totdd R -~ 1.78¢ ). 333

= 0'4@2 - 3-06 Cl/’/lz’

A Cos’ QOL&QZ)

2

LB = 63§ 9:06 o

(Total for Question 22 is 6 marks)

N

TOTAL FOR PAPER IS 80 MARKS
/
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